Unit 6 and 7
Unit 6 – Economic Growth and Productivity – 5-10% of the AP Exam

A.  Investment in Human Capital

B. Investment in Physical Capital

C. Research and development, and technological progress

D. Growth Policy

Unit 7 – Open Economy: International Trade and Finance – 10-15% of the AP Exam

A. Balance of payments accounts

i. Balance of trade

ii. Current account

iii. Capital account

B. Foreign Exchange Market

i. Demand and supply of foreign exchange

ii. Exchange rate determination

iii. Currency appreciation and depreciation

C. Net exports and capital flows

D. Links to financial and goods markets
[image: image1.png]An increase in the foreign exchange value ofa
nation’s currency will

(A) increase bothi AS and AD

(B) increase AD and decrease AS

(C) decrease AD and increase AS

(D) increase AD without affecting AS

(E) increase AS without affecting AD




[image: image2.png]A depreciating dollar will tend to

(A) decrease the prices of both American
imports and exports

(B) increase the prices of both American
imports and exports

(C) decrease the prices of the goods that
Americans import, but increase the
prices foreigners pay for the goods that
Americans export

(D) increase the prices of the goods that
Americans import, but decrease the
prices foreigners pay for the goods that
Americans export

(E) have no effect on either exports or imports



[image: image3.png]The current account section of a nation’s
Balance of Payments statement includes

. Merchandise exports and merchandise
imports
I Netinvestment income
L Official reserves
IV. Net foreign investments
(4) Lonly
(B) Tand Il
(©) L1L, and 111
(D) LIL and IV
(E) Hand IV



[image: image4.png]‘The capital account section of a nation’s
Balance of Payments statement includes
1. Capital inflows to the nation
1L’ Capital outflows from the hation
IIL. Toyota buys an automobile factory
i Kentucky
* IV. Netinvestment income
(A) Tonly
(8) Tand II
(C) 1,1, and I
(D)1, 11, and IV
(B) Tand IV




[image: image5.png]Economic growth can be shown as a
(A) rightward shift of the PPC
(B) leftward shift of the PPC

(C) movement from a point on the PPCto a
point outside it

(D) movement from a point on the PPC to
another point on the curve

() cannot be shown using the PPC model



[image: image6.png]Which of the following transactions would be
counted as an export of goods and/or services
in'the U.S. balance of payments accounts?

(A) A British investor buys 1000 shares of
stock in a U.S. company.

(B) A U.S. tourist in Hong Kong spends $25
on souvenirs.

(C).A U.S. computer manufacturer buys a
Taiwanese company that supplies
memory chips.

(D) A French executive in the U.S. on
business buys dinner for himself and a
client in a New York restaurant.

(E) A Turkish rug dealer sells handmade rugs
to a Dallas, Texas, wholesaler.



[image: image7.png]Inan economy, the government has voted to
increase spending by $100 million. Which of the
following uses of this money would'be effective
in promoting Jong-term economic growth?
1. Construction of a medical research
laboratory
1L Improved maintenance of national park
facilities
I Widening of two-lane highways to four
lanes.
IV. Financing research and development
for small business development

(&) Tand T
(B) Wand Il .
(C) LN, and I

(D) L, 1L, and IV

(B) T, I, and IV



[image: image8.png]/An economy wants to increase its rate of
economic growth, Which of the following,
policy actions would be most effective in
accomplishing this goal?

L Anincrease in business tax rates
1L Government subsidies for research and

development
TL Anincrease in government spending for
infrastructure
IV. A cutin government spending for
education
(A) Tand IT

(B) Mand 11T

(C) 1,11, and 111
(D) 11, 111, and IV
(E) M and IV



[image: image9.png]Al else equal, when the United States exports
‘more goods and services,

(A) the value of the dollar falls as the supply of
dollars increascs.

(B) the value of the dollar sises as demand for
dollars incroascs.

() the value of the dollar flls as demand for
dollars decreases.

(D) the value of the dollar rises as the supply of
dollars increases.

(E) the value of the dollar falls as demand for
dollars increases.




[image: image10.png]‘Which of the following is a predictable conse-
quence of impor quotas?

() Increased comperition and lower consumer
prices.

(B) Increased govemment tax revenue from
imported goods.

(C) Rising ner exports and 2 rightward hiin
aggregate supply.

(D) An improved allocation of resources away
from inefficient producers and lower con-
sumer prices.

(B) Higher consumer prices and a misallocation
of resources away from efficient producers.



[image: image11.png]Labor productivity and economic growth
increase if

(A) 2 nation subsidizes education for all cirizens.

(B) a nation imposes tariffs and. quots on
imported goods.

(G)a nation removes penaltics for firms that
pollute natural resources.

(D)a nation ignores socictal barriers fike dis-
crimination.

(E) a nation taxes income from intercst on saving.



[image: image12.png]“Which of the following would likely contribute
0 faster rates of cconomic growth?

(A) A more restriceive immigration policy.

(B) Negative net investment.

(C) Higher taxes on houscholds and firms.

(D) Higher government funding of rescarch on
clean energy supplics.

(E) Protective trade policies.



[image: image13.png]Economic growth is best described as

(A) an increase i’ the production possibility
frontier and an increase in the natural rate
of unemployment.

(B) an increase in the production possibility
frontier and a lefiward shift In long-run
aggregate supply.

(O)a decreasc in the production - possibility
Frontier and a rightward shift in long-run
aggregate supply. X N

(D)a decrease in the production possibility
fronticr and a lefrward -shift in' long-run
aggregate supply. . §

(E) an increase in the production possibility
Frontier and a rightward shift in long-run
aggregate supply.



[image: image14.png]Lower interest rares in the United States cause
the valuc of the dollar and exports to change in
which of the.following ways?

_
VALUE OF THE

DOLLAR U.S. EXPORTS
() Increasing Increasing,
®) Increasing Decreasing
(©)  Decreasing Increasing
() Decreasing Unchanged
(E) Increasing. Increasing




[image: image15.png]‘Which of the following likely results in a perma-
nent increase in a natior’s productive capacity?

(A) A declinc in the birth rate.

(B) Declining adult liveracy rates.

(C) Widespread relocation of manufacturing
firms to low-wage nations.

(D) National program of child immunization.

(E) A global increasc in the price of crude o,




[image: image16.png]Assuming there is no statistical discrepancy, a

trade surplus must be offset elsewhere in the

(A) current-account balance only . -

(B) capital-account balance only

(C) merchandise balance of trade only

(D) current-accountorcapital accountonly

(E) \merchandise balance of trade or current
account only



[image: image17.png]Classical economists believe

(A) in the quantity theory of money—that both
the velocity and the quantity of goods and
services sold per period are fairly stable

(B) there is a serious risk of a liquidity trap
because the demand curve for money is

.- relatively flat

() that the government should make every
effort to fine tune the economy .

(D) that the aggregate supply curve is L-shaped

(B thatan increase in the money supply has a

" small and indirect effect on total spending.




[image: image18.png]When the value of the U.S. dollar appreciates
relative to othet currencies, which of the follow-
ing is the most likely to occur?

(A) - Imports into U.S. will decrease.

(B) Exports from the US. will increase.

(O) US. residents will take more vacafions in

,_ foreign countries. ,
(D) More foreign visitors will travel t the U.S.
(E) Investments in U.S. securities will increase:




[image: image19.png]According to Keynesian economists,

(&) the investmént demand curve is relatively
elastic

(B) fiscal policy is more effective than monetary
policy

(C) the economy is inherently steble

(D) _inadequate supply is-largely to blame for
‘periods of stagnation

(B)  real GDP will naturally adjust to the full-
employment level E




[image: image20.png]‘Which of the following will shift the demand
curve for the Mexican peso to the left?

(A) Speculation that the peso will increase in
value

(B) An increase in interest rates in Mexico
relative to other countries

(©) Alower rate of inflation in Mexico relative
to other countries

(D) Anincrease in incomes elsewhere relative to
in Mexico

(E) A decrease in the international demand for
Mexican-made textiles




[image: image21.png]If technology makes production less expensive
and at the same time exports decrease, which of
the following will result with certainty?

(A) Real GDP will increase
(B) Real GDP will decrease

(C) The price level will increase

(D) The price level will decrease

(F) Real output will remain the same









[image: image22.png]Itis a monetarist point of view that

(A) monetary policy should be used to fine-tune
the economy R

(B) ctowding outis not a problem

(©) themoncy supply should be incrhacd
steadily

(D) the velocity of money is unstable

(E) the economy is inherently unstable




[image: image23.png]According to Say’s Law,

(A) when price goes up, supply goes up

(B) - itis better to give than receive

(C) demand creates its own supply

(D) - supply creates its own demand

(E) demand and supply are mutually
independent









[image: image24.png]Which of the following is the most likely to be
deterrent to growth in the economy?

(A) Spending on education and training

(B) Increases in capital

(C) Increases in the interest rate

(D) Expenditures on zesearch and development
(E) Increased capacity utilization

According to Thomas Malthus and his followers,

(A) technological snafus will be the parasite of
the twenty-first century

(B) technology will replace human labor inputs

(C) population will grow geometrically and
food production will grow more slowly

(D) inereases in efficiency.will outpace
population growth and lead to unsold
output

tpuf
(E) by the year 2050, there will be virtually no
‘worthwhile new inventions to be made



[image: image25.png]Classical economists generally believe that
1. wages fluctuate quickly
1L Say’s Law does not hold
I inputand output prices will stay in fine with
each other
IV. the governmerit should not worry about
maintaining aggregate demand at an
. adequate level

(4) Mand IV only E
(B). I, TIL, and IV only.

(C) Tand IV only

(D) Mand IT only

(E) 11I, arid I only







